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  He planted 5 rows 
  of corn and there were
  6 seeds in each row.
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om  He watered 2 rows 

  of tomatoes and there 
  were 6 plants in each 
   row.

  
  She planted 2 rows 
  of flowers and there
  were 8 flowers in 
  each row.

  He watered 8 rows 
  of the garden and there
  were 9 plants in each
   row.
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  She planted 8 rows 
  of the lettuce and there
  were 3 heads of lettuce
  in each row.

  
   There are 9 rows 
  of carrots and 5
  carrots in each row.

     
  He planted 4 rows of
  flower pots and there 
  were 5 pots in each 
   row.

  He watered 6 rows 
  of flower pots and there 
  were 6 pots in each 
  row.
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  There are 6 rows  of peas
  in the garden and there
  are 12 pea plants in 
  each row.

  
  She planted 5 rows 
  of seeds and there
  were 10 seeds in 
  each row.

     
  He watered 6 rows 
  of broccoli and there 
  are 8 broccoli in each 
  row.

  He dug 4 rows for planting
  and there are 12 holes
  in each row.
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  He watered 9 rows 
  of cauliflower and there
  were 8 cauliflower plants 
  in each row.

  
  She planted 1 rows 
  of radishes and there
  were 12 radishes in 
  each row.

  There are 7 rows of
  potatoes in the garden 
  and there are 5 potato
  plants in each row.

  He planted 7 rows 
  of onions and there are
  6 onions in each row.
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